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 Instructions: You have exactly 100 minutes. No paper will be accepted after 100 minutes. You may use one aid, a data card for your country. 

Part A: Short answers: Answer all. Value for each question is noted by question. Use information from your country when appropriate. Total 45 points
1. If your country has a capital output ratio of 8 calculate the required amount of net savings for your country's income per capita to grow at 2.5 per cent per annum. (5pts)

2. Repeat the above exercise assuming that your country did not change except that it had Canada's population growth rate of approximately 1/2 of one per- cent. (2.5pts)

 

3. The demographic transition theory argues that as development proceeds a country will pass from stage one or two through to stage three. With the aid of a diagram outline the three stages of the model and explain what demographic factor drives each stage. (7.5pts)

4. Place your country in its current stage and add values for the crude birth and death rates, which support this placement. (2.5 pts.)

5. What prevents your country from moving to the next stage? (2.5pts)

6. If your country moved from its current stage in the demographic transition theory to stage III how fast would your country now grow? (2.5pts)

 

7. Define the Human Development Index and explain its strengths and weakness. (5pts)

8. Why does your country get a relatively low ranking for the Human Development Index while Canada gets a high ranking? (2.5pts)

9. Urbanization is a severe problem in most poor countries;

a. Explain why migration may be harmful for the economy but good for the individual. (2.5pts)

b. What is the absolute size of your largest city and the degree of urbanization in your country? (2.5pts)

c. Is this evidence for over-urbanization given your knowledge of other cities? (2.5pts) 

d.       Name two policies that can reduce the rate of urbanization in your country. (2.5pts)

 

i.



ii.

 
Part B:  Multiple Choice: Select the Best answer and circle your choice. Each question worth 5 points.  Total 30 points

1. Education is an act of investment  because
a. It increases productivity and income of educated individual

b. Does not cost taxpayer anything 

c. Accelerates the ‘Brain Drain’.
d. Often associated with migration.

e. All of the above 

f. All but one of the above

2. Increased expenditure on public health care will 
a. Yield high returns
b. Decrease infant mortality
c. Increase productivity
d. Increase length of life
e. All of the above

f. All but one of the above

3. In terms of the W. A. Lewis model, agricultural development will

a. Raise the subsistence wage or the average agricultural product

b. Raise the minimum wage offered in the urban sector

c. Reduce the possibility of urban underemployment

d. Increase the supply of redundant agricultural labour with a zero marginal product.

e. All of the above.

f. All but one of the above

4. Chinese economic development has been accelerated by

a. Low agricultural prices

b. Massive inflows of foreign direct investment

c. An undervalued foreign exchange rate
d. Export led growth

e. All of the above

f. All but one of the above

5. In the Lewis model development is only possible if 

a. There is redundant agricultural labour

b. If any agricultural surplus is reinvested

c. If industrial job growth matches the number of agricultural migrants

d. All of the above

e. All but one of the above

6. Rural-Urban migration is a result of  

a. Demographic forces

b. Past migration flows to urban area

c. A high rate of return on migrant’s human capital

d. All of the above

e. All but one of the above

.

Part C: This section is worth 30 Points

1. There exist two competing views why people move. The economic view is based on a rate of return analysis while the non-economic argument is based on the gravity model. 

a. Briefly outline the main arguments of each model (10 points).

a. Having seen the movie Beijing Bicycle choose which migration model presented in lecture is most appropriate to describe the movie and why. (10 points).

2. You have now listened to the discussion of immigrants and dual citizenship on the radio program “the Current” on CBC (The Current for June 5, 2008, Part 3: Letters). 

a. How can the granting of dual citizenship to an immigrant from and underdeveloped country aid in the process of development? (5 pts)
b. What is the risk to the returned economic immigrant if dual citizenship is not recognized? (5pts)
